
1 Kit content

1 32 5

64 8

7

N° Description Qty
1 Hanger bar 2
2 Hanger extension 2
3 Cable clamp 4
4 Lock washer M6 6
5 Bolt M6X30 4
6 Bolt M6X12 2
7 UMB Plate 1
8 Nut M6 6

Installation Instructions

page 1 / 2
© 2021 CommScope, Inc. All Rights Reserved

NOVUX™ Fiber Optic System
TC-1463-IP Rev. B, October 2021

http://
www.commscope.com

Strand Bracket

© 2021 CommScope, Inc. All Rights Reserved
Visit our website or contact your local CommScope® representative for more information. www.commscope.com. All trademarks identified by ® are
registered trademarks in the US and may be registered in other countries. All third party product names, trademarks and registered trademarks are property
of their respective owners. This product may be covered by one or more U.S. patents or their foreign equivalents. For patents, see www.cs-pat.com.
For technical assistance, customer service, or to report any missing/damaged parts, visit us at: http://www.commscope.com/SupportCenter.

page 1 / 2



2 Strand bracket mounting

2.1 Products with built in mounting tabs

  

  

2.2 Products using the Universal Mounting Bracket

  

page 2 / 2
© 2021 CommScope, Inc. All Rights Reserved


	1 Kit content
	2 Strand bracket mounting
	2.1 Products with built in mounting tabs
	2.2 Products using the Universal Mounting Bracket


